Complete parts a—c for each quadratic function.

a. Find the y-intercept, the equation of the axis of symmetry, and the x-coordinate of the vertex.

b. Make a table of values that includes the vertex.

¢. Use this information to graph the function.

33. flx)=2x2—6x—9 34. f(x) = —3x* — 9x + 2
35. flx) = —4x* + 5x 36. f(x) = 2x% + 11x

37.fls) = 0258 By 4 38. f(x) = —0.75x> + 4x + 6
7

40. f(x) = ——x —§-x+9

41. FINANCIAL LITERACY A babysitting club sits for 50 different families. They would like t
increase their current rate of $9.50 per hour. After surveying the famlhes, the clu bfinds - o8

-

a. Write a quadratic function that models this situation. g
b. State the domain and range of this function as it applies to the situz
C. What hourly rate will maximize the club’s income? Is thi sonable’

d. What is the maximum income the club can expect to n ke?

ACTIVITIES Last year, 300 people attended the Fre 1 High Sch
winter play. The ticket pnce was $8. The adwsorae timates that 2(
attend for each $1 increase in ticket price. oaa

a. What ticket price would give the gneat" 't Dram:

b. If the Drama Club raised its tickets to this price, how much ing
to bring in? .
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